2. Aufgabe

2.1 
[image: image1.wmf]V

3

U

ˆ

0

x

p

=

=


2.2 
[image: image2.wmf]m

1

01266

,

0

10

ln

l

20

11

10

ln

l

1

10

e

e

U

U

log

20

11

20

11

20

11

l

l

=

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

×

=

a

Þ

=

Þ

×

=

a

×

a

-


2.3 
[image: image3.wmf]V

8455

,

0

10

U

ˆ

U

ˆ

U

ˆ

U

ˆ

log

20

11

20

11

0

x

p

l

x

p

l

x

p

0

x

p

=

×

=

Þ

=

-

=

=

=

=


2.4 
[image: image4.wmf]mW

56

,

3

C

1

R

2

1

U

ˆ

C

1

R

R

R

2

1

U

ˆ

C

j

1

R

R

R

2

1

U

ˆ

R

U

P

2

2

2

l

x

2

p

2

2

2

2

l

x

2

p

l

x

2

p

2

R

L

=

w

+

×

×

=

w

+

×

×

=

w

+

×

×

=

=

=

=

=


_1073464609.unknown

_1073470129.unknown

_1073467229.unknown

_1073464220.unknown

